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The figires in the margin indicate full marks
for the questions

Answer five questions, selecting one from each Unit

" Unit—I

1. (a) What do you mean by statistical data?
Write a note on the types of statistical
data. What are the different methods of
collecting primary data and secondary
data? 1+2+3=6

(b} Explain the following terms with rough
sketches : 2x3=6

(i) Histogram
(ii) Frequency polygon
(iij) Ogive
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Define the operators A and E. Obtain the
relationship betweenA and E. Show that

Alog f(x)=1 l-f--——“c

1+1+3=5

State and’ prove Newton’s divided
difference formula. 1+5=6

What do you mean by numerical

integration? Deduce the general
formula and hence obtain

quadrature
Simpson’s 3rd rule of numerical
24+5+2=9

integration.
Define the following terms : 1+1=2
fi) Arguments
(ii) Entry |
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